
Workbook 2 Samples 

What Would You Bid With Each of the Following Hands Assuming 

Your Partner Has Opened 1♣?  Points Bid 

1)♠QJ75  ♥9543  ♦K5  ♣1032 __________________________  

 

What Would You Bid With Each of the Following Hands Assuming Your 
Partner Has Opened 1♥? Points Bid 

1)♠QJ75  ♥9543  ♦K5  ♣1032 __________________________  

 

Answers 

What Would You Bid With Each of the Following Hands Assuming 

Your Partner Has Opened 1♣? 

1) ♠QJ75  ♥9543  ♦K5  ♣1032 
1♥. I have 6 points and two four-card majors.  I will bid my 
majors ‘Up the Line’ 

 

What Would You Bid With Each of the Following Hands Assuming 

Your Partner Has Opened 1♥? 

1) ♠QJ75  ♥9543  ♦K5  ♣1032 
2♥. I have 6 points and a fit with partner’s major. 

 


